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2041. Design Real Use Cases

Use Case 1. Set current time

Actor User

Purpose M Alghe /-

Overview User2| l2dof [r2f $4ZH AlZhe M&/4H8tct.
Type Evident

Pre - Requisites

Mode 7t Time-Keeping &

FEjo{oF BtC}.

Typical Courses of Events

(A) : Actor (S) : System
1. AAMOHES ZH & £+ ZEZ FTIstct
2. (S) s MAHE|of /U= AlZtE 7t 20t
3. (S)‘dx’'E Zuolct
4. (A)RE/STHEEZ s ATl ZS7HLAE
QEEHCY.
5 (S)'dx’ol gt B7HHAAIZICH
6. (A)ADHEEZ 52 HME '&'E 0|82 &t
7. (S) ‘&S Zwelrt
8. (A)RE/STHES =t ‘&' B7WLALE QEH
9. (S)'®elis FIvHLAZICH
10. (A)AD HEE =2 HME '¥'E 0|5 st
11. (S) ‘&' &welct
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Typical Courses of Events

(A) : Actor (S) : System

1. AMOHESE ZA st =8 ZEE TIQSHCt.

2. (S)‘Al'E Zuelrt,

3. (A)RE/STHES =2 ‘Aol B7HHLE st

4. (S)‘AlQl Ztg B7H& A AIZICH

5. (AVAD HHEEZ & HME 'E' 22 0|52 2% etch

6. (S) ‘&S Hwelct

7. (A)RE/STHES =& ‘&2 S7VLYALE &t

8. (S)‘®'olie B7HEAAZICH

9. (AVAD HEES =t HME ‘Z'2E 0|52 E&t

10. (S) ‘x'2 Zurolct.

11. (A) RE/ST HE S st ‘X'%t2 S87HHAE 2Hstrt

12. (S) ‘='o| & B7hE A A ZIct

13. (A) MO HHE S = MM} ZE Xt

14. (S) B™HEAlPErZ 2 2 Timekeeping mode 2|
current time2 C|O|E & F| C|AZ 2| O|EtCt.

Alternative Courses of Events

Line 2 ~Line12: (A) MOH{ES =& MY =02 E Q8.

Line 2 ~ Line12 : (S) Line 142 Z 0|5 8tC}.

Exceptional Courses of Events
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Use Case 3. Start timer

Actor Actor

Purpose EO|HE A- ST

Overview A R0l A 2482 Efo|m A|ZH2 2 EFO|HE AlRiStC}.
Type Evident

Pre - Requisites

Set Timer0i| 2|3 0= & Z1}8+ AlZHO|
M E|oq Ql0{0F Ftrt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) STHESZ =i Al&fetct.




2. (S) MHEElof U= AlztollM RE| AR Azl &0
et 7t 2 E ch23tod 2oi#EC.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1 : Timer2| A|Zt0| A& E|o{ K| ef Lt 0| A AlZE
OX-IOI I\AEIIH —|—A|°|'|:|-

Use Case 4. Pause timer

Actor User

Purpose ElOo|HE XM X|A|ZICT.

Overview EtO|H7I S L, AHERI7t (HX HE)E FE2H AHS
&=},

Type Evident

Pre - Requisites

34%H Mode 7} Timer0o{of StC}.
MHE AlZte 2 Eto|H7} A& Solo{of St}

0l

0]

Typical Courses of Events

(A) : Actor (S) : System
1. (A):STHES & ™x|gtCt
2. (S): s&3¢2l Eto|HE ™ X|Ftct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 5. Reset timer

Actor Actor

Purpose EtO|HE Z7I8HAIZICE

Overview AER7H(Z718F HE)E F 2T, ElO|H AlZtE =7I8t8HCH
Type Evident

Pre - Requisites

34X Mode7} Timer0{of BtC}.

Typical Courses of Events

(A) : Actor (S) : System




1. (A)REHHEZ =21 ElO|HE =7|5t &t
2. (S)ElO|HE MYE Azt 2 HiECt

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: 0|0 Efo|tHe| AlZtO| 021 AEHOY| M Clear 20|

0128 FAIECH

Use Case 6. Notify the end

Actor System

Purpose EtOIH7I BTt R[E ALE R0 A L EIct
Overview EtO|H7t LM beep2 S EICTH

Type Hidden

Pre - Requisites

Timer7t & &0[0{of EFCt.

Eto|mH7t 00| Z|ofof BtCf.

Typical Courses of Events

(S) : System
1. (S) EtO|H7t 00| E[H, System Beep2 &
2. (S)Timerg &X|5tD, 7|E0| dHE A2t E

Sotzhct.

AlZict,

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: CHE Beep”t O|0| 2& &0|2, FA[EtC}.

Use Case 7. Start Stopwatch

Actor User

Purpose Stopwatch& A& AlZICtH

Overview UserQ| HE @l240]| [t 2} StopwatchE A A|ZICEH
Type Evident

Cross Reference

Pre - Requisites

Mode7} Stopwatch2 A% k|04 R{0{0F FtCt.




Typical Courses of Events

(A) : Actor (S) : System
1. (A)STHESZ F+&rt.
2. (S) Stopwatch0i| A% &l A|ZHRE Count upBtCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Stopwatchol A EA|7t S8 2| 0|4 2] Count up
(Stopwatch7t A|Zf El ZEfOIM FAlZH EX|E BR) RSS2
StopF 022 X 7|3} #tCt (HAlZt Y x|E Re 2 7H™stn

ol{3t S AlH)

Use Case 8. Pause Stopwatch

Actor User

Purpose StopwatchE L A| HX|&tCt.

Overview Stopwatch2| A TFoi| HE =2 S5 LAl HX|EHCt
Type Evident

Pre - Requisites

#4Xl System2| Mode2 Stopwatch 0]0{0F EtLC}.
Stopwatch2| A|ZtO| ZI& 4EjO[o{of BT

Typical Courses of Events

(A) : Actor (S) : System
1. (A)STHES +£8rt.
2. (S) &I &2l Stopwatch AlZHE K|t}

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 9. Record Lap Time

Actor User

Purpose Stopwatch@| Lap Time2 7|5 8tc}.

Overview Stopwatch| A Foi| HE 22 S5l 3 M AlZtS

7|5tk

Type

Evident




Pre - Requisites

Start stopwarch7t & T|04 /= AEjo{OFEFCE

Typical Courses of Events

(A) : Actor (S) : System
1. (A): Stopwatch /&S0 ADHEE FEC}.
2. (S): ADHEO| =2l A|™o| AlZtE XME St

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : Lap time 7|52 107 0|4 22 RFHO0| S0{H 7%
QEE 7ISEE AHUZE AR E|T MEL Lap timeO|
7|&Ect.

Use Case 10. Show Lap Time

Actor User

Purpose Stopwatchol|l M X{& El Lap Time2 2 04&L}.

Overview Stopwatchd| M 7|t Lap Time2 XIZH|CH 2 Eo{&E Lt
Type Evident

Pre - Requisites

Start stopwarch7} PauseZ|0{ Q= 4FE{f0{0F5HC}

Typical Courses of Events

(A) : Actor (S) : System

1. (A): Stopwatch LA|IHX| & EfoI M MOHES ZH

+ECt.
: OFX[2Hofl M ZHEl Lap Time2 2E0{Z&ELC
: STREHEE F&rt..
: M/Z 0 K E Lap Time2 E0{&LC}
MOHES +Ert.

S): MEE AlZt2 2242l Stopwatche| LA|E K|
AEfE FotzZtCt.

LN

o g M wD
TS TS D

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 2 : & &l Lap TimeO| 1= &<, No Lap Time2

E=EH
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m
ot

Line 4 : OhX|2fofl HZE Lap TimedlM REEHHEO|
MZ2 2 M E Lap TimeS E2{=2Ct.
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Otx|2te 2 X{ZEl Lap TimeS E{2CH
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Use Case

11. Clear stopwatch

Actor User

Purpose StopwatchE 02 2 & 7|5 AlZIC}.

Overview AERH7F HHE € =081 Stopwatch= 022 Z7|3HEIC
Type Evident

Pre - Requisites

Stopwatch7} pauseE|0{ = AFE{0{0FEHCE,

Typical Courses of Events

(A) : Actor (S) : System
1. (A)REHEEZ FECt
2. (S) #XH Stopwatchl| A|ZtE 022 X 7|38t tCt.
3. (S) 2E Lap Time 7|22 Atx|8tCt.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 12. Activate alarm

Actor User

Purpose MELEl alarm S & A 3HA|ZIC

Overview A8 X7t HIE E3HEl alarme MEH509 alarm2 & A SHA|ZICt
Type Evident

Pre - Requisites

#4%xH Mode alarm 0|040f BtC}.
& A5t Al 7|24= alarmO| deactivate A Ef0{OF BtC}.

Typical Courses of Events

(A) : Actor (S) : System
1. (A)AD HE
stCt.

2. (S) Y alarme &35}

o

2 =0 SystemOl|A| alarm & 445t @&

rot

ct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A




Use Case

13. Deactivate alarm

Actor User

Purpose g3t E alarm2 HIE M3} sto)
Overview HEZ £o{ alarm2 H|& 43} 8t
Type Evident

Pre - Requisites

FIER S ENHERS

4% Mode2 alarm EE=040f 8tC}..
alarmO| activate & E§040F BtC}.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) ADHES =2 alarm2 HIE &3}

alarm2 H|& s} stct,

2. (S

rob

FC}.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 14. Set alarm

Actor User

Purpose alarm A|Zt2 A& EHCt

Overview A E Xt Al alarm AlZHES @l2dgte F Xt
Type Evident

Pre - Requisites

Mode7} alarmS 2 A& E|0{ Q)

lo{of BtCt.

Typical Courses of Events

(A) : Actor (S) : System

1. (A) switch an alarm2 &38| alarm slotE MEiEH

MOE ZH +&rt.
S) ‘A2 7Ztawkolct,
) RE/ST HE

S) ‘&g 7Zhuko|Ct

A) RE/ST H

© N o g~ w D

(
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(
(A) AD HEE =2
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(

S) ‘Al'el ztg 7h&

g el 'Algtel B7hd A8 @FEtr

A AlZict.




10. (S) AFE A7t A&t alarm2 2 alarm slotS A% 8tet.

Alternative Courses of Events Line 2 ~Line 8: (A) MOHES =t MY &t E Xt}
Line 2 ~ Line 8 : (S) Line 1222 O|S¢&tCt.
Line 8: AD HEZ E2{ Line 42 EotZ X 2% stct
Exceptional Courses of Events Line 4, Line 8 :Zf EH2[9| %|C &2 %A E =1 £2 0|
st = @F. 2[CHE Zotote -2 2AE, 2|48
0|Este =82 2|2 E AIEC

Use Case 15. Switch alarm

Actor User

Purpose Mg alarm2 ME4SHCH

Overview MEXIoH HES =] 8ot alarmS HFE LY.
Type Evident

Pre - Requisites

Mode7} alarm2 2 M E|o{ Qlo{of &t}

Typical Courses of Events

(A) : Actor (S) : System
1. (A) STREHES FErC}.
2. (S) ™M/ZZ XHEl alarm sloto| A|ZtT} AEHE
HoiECt

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 16. Notify alarm

Actor System

Purpose alarmA|Zt0| £/ beep= S EICH

Overview AMERE7E A8 alarmA|ZH0l beep2 2 EICH.




Type

Hidden

Pre - Requisites

System2| & 45} El Mode & alarmO| EXH35}0{0F L},

g H3tEl alarm 2] A[ZtD} System A|ZHO| S SFo40F BHCL.

Typical Courses of Events

(S) : System
1. (S) ™ E AlarmA|Zt0| £|H, Beep2 &S AlZICH.

Alternative Courses of Events

N/A

Exceptional Courses of Events

Line 1: 0|0| Beep7} S &0|H FA|

o

ct.

Use Case 17. Set case number

Actor User

Purpose Random NumberE g2 Ato| He|E X|HEtct.

Overview UserQ| HE 21242 S35l Case Number2| HRIE +H35l1
KBt

Type Evident

Pre - Requisites

#1xl Mode = Decision Making0|040F StC}.

Typical Courses of Events

(A) : Actor (S) : System

(A) MOHHE S ZH s8] +H2EZ TIQStC}

S) Default Case NumberE E A|EtC}.

A) RE/STE FE&rCt.

S) tHEoil k2t Case NumberE 14 S7HZ A A|ZICH,
A) MOHHE & =21 Case Number Setting0i| A{ b} x4
LtZtct.

6. (S)Case NumberE £8tC}.

o > w N PE
e~ o~ =

Alternative Courses of Events

Line 2 ~Line 4 : (A) MOHEE & Mot WALIY XS
QS

Line 2 ~ Line 4 : (S) Case Numberg X%t Case Number

SettingOll A Bk X4 Lt ZHCF

Exceptional Courses of Events

Line 4 : Case Number2| Z|CH &2
+E QF. 20HE 205t =H2 |
X

T el
M2 2|02 EAIBCH




Use Case 18. Get case

Actor User

Purpose A& X} random$t caseE ULt

Overview ANEX7F HE S F2™ random$t caseE L{ECt.
Type Evident

Pre - Requisites

#4Xl Mode = Decision Making 0|00} StC}.
Set Case Number 2474 0| 2t 2 El 2/ EjO|0{0F FtCt.

Typical Courses of Events

(A) : Actor (S) : System
1. (A) STHHEZ =24 Random NumberE Q& 3tC}.
2. (S) Actor0i 7l Random NumberZ |3 tct.

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 19. Switch city

Actor User

Purpose global time€ E0iE& TAIE T ECH

Overview AER7F HE E S5l global time2 E0{&E T AIE T ELC}
Type Evident

Pre - Requisites

#1xl Mode = global time 2 =0{0F $tC}.

Typical Courses of Events

(A) : Actor (S) : System
1. (A):“RE'HHE/"ST'HEE 0|83l TAIE T EC}
2. (S): use case Calculate time of city
3. (S): T ZA| AlztE Eo{ZELCH

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case

20. Switch current mode




Actor User

Purpose X E245t 0 U= REE HHECH

Overview HES s AASAE M £33t e D= & HEs
Type Evident

Pre - Requisites N/A

Typical Courses of Events

(A) : Actor (S) : System

1. (A)MO HES =& A C|AEd 0| E[= Mode

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 21. Select modes

Actor User

Purpose Activate® ModeE A’H8tC}.

Overview 67H2| x| Mode® 47HE selectdtoq activate StCt.
Type Evident

Pre - Requisites

Zt Mode7t =X =E =7} ofL|o{of &tC}.

0]

Typical Courses of Events

(A) : Actor (S) : System

(A) ADHE S Z4H +ECt.

(S) 6712] Mode 2| ot0|2 & &t o displayst
#Hm ModeE Z#rolct.

(A) STHE S S8l MEtstrt.

(S) CH2 ModeE Z#rolCt,

(A) MOHE € £ Mode Setting2 &2 5trt.
(S) ME4E Mode7} 4712l B O|& K& st

S =8t}

n

o g M~ w

r

=
4, X

Alternative Courses of Events

Line 3. MEdZ 5t X| et 1

0{7t24H ADHE S FE¢r}.




Line 4. &7}2 ModetM B2 dljot5t= B Line 32 E0t7HC

Exceptional Courses of Events

Line 5. MEHEl Mode7} 47l Z=2t/0|Bt Y ZF2, Time display

2o ErrE &34stc}.

Use Case 22. Activate beep

Actor System

Purpose Beep= 2 22ICt.

Overview UserZl ME3l = alarmO|L} Timer0 2|5 Beep2 &
22ct

Type Hidden

Pre - Requisites

alarmO|Lt Timer S0| A4 (0] Rlo{oF EHCt.

Typical Courses of Events

(S) : System
1. (S) alarmO|L} TimerZ £ E{ Beep2 20| E0{2H,
Beeps2 =22ICt.
2. (S)Beep7t 22|l x| & = UTE C|AZB0[FtCt

Alternative Courses of Events

N/A

Exceptional Courses of Events

N/A

Use Case 23. Deactivate beep

Actor User

Purpose 22|13 U= Beepzx2 HELC

Overview User2| /232 Htot M Beeps2 HELT
Type Evident

Pre - Requisites

alarmO| 22|= & 0[o{oF §tCt.

Typical Courses of Events

(A) : Actor (S) : System




Alternative Courses of Events N/A

Exceptional Courses of Events N/A

2042. Define Reports, Ul and StoryBoards

1. window O : Default Design

Stopwatch
Time keeping Tirner Alarmm Decision Maker World Time
B Yey
AD OO &) @|| 20200523 = RE

MO 124501 ST

Rl
HI «
pt <



2. window 1 : Time Keeping

@ &) e 9P [ 20200523 £

12 .45 : 01

3. window 2 : Stopwatch

OOXTo @ [ 20200523 £
(" ~
\ y,

4. window 3 : Timer

@ OXE0 @ P [ 20200523 &

04 : 48 : 11




5. window 4 : Alarm

OO @ Dl 1/ Ac

( N\

N\ J
6. window 5 : Decision Maker

@ O X G @ @] 20200523 =
( ™\




7. window 6 : World Time

[@ O X ) @ 9| 20200523 =
( N

NYC 01 :45: 01

City
8. window 8 : Select Mode

Al. deactived mode

ST AHA
: AR MEHE 2 E 47

A oY
1z T|o

@ &) 20200523 £

12 .45 : 01




2043. Define Interaction Diagram

1. Set Current Time

TimeKeeping

i DMsystem

H Push "Long MO™ H
E 'decodeButionInput{buttoninput)
E editTimeKeeping()
1 displayCurrentTime() ratum
I highlightCurrentUnit(y
loop ) [ buttaninput 1
opt : Push "RE"
H decodeButionInput{buttoninput)
[ buttoninpul == "RE" | r increasa()
E‘ displayCurrentTime()
Push "ST" :
'decodeButton Input{buttoninput) 3
[ buttonlnput == "ST"]
[ decrease() &
+ displayCurrentTime() - 1-|
opt Fush "AD" o H
] 'decodeButton Input(buttoninput) H
selectUnitTime() __E
iy displayCurrentTime() |
P highlightCurrentUnit() 0
saveCurrentTime() :
P

2. Set Timer

H Push "Lang MO” H

: decodeButtoninput{buttoninput)

editTimer()

4 displayTimerTime() rotom

;‘ highlightCurrentUnit()

'009) [buttoninput = "MO"] &
opt ) alt ) H Push "RE™

F| 'decodeButtoninput(buttoninput)

RE"] r increase()
retum
S AN e N Py .

displayTimerTime()

Push "ST"
decodeButtoninput{buttoninput)
"ST"]

[ decrease()

retum
displayTimerTime() B T T T T CY T T ey S Ry P S
opt Push "AD" o
d decodeButtoninput{buttoninputy
selectUnitTime(}

ratum

displayTimerTime()
highlightCurrentUnit)

saveTimer()




Timer

H
(=]
[
=
c
3
[=]
a

-ﬂ

‘Timer

stariTimer()
pauseTimer()

:RDMsystem

return

[ ‘RDMsystem ]

3. Start Timer

Push "ST"

Errar! | Imvaild Request

push "ST'
displayTimerTime()

[isVaild == false]

alt
[isVaild ==

;

L ecsscessnedaccnansnsnsnsnsnsnsnsnsshdefleccccncnsnsnsnsnansnsnsn s am s s m s s m s nm

4. Pause Timer




5. Reset Timer

[ ‘RDMsystem ]

push 'RE'

dizplayTimerTime{)

resetTimer()

|dccndc5unanlnpm(buttnn Input) .

G R R R e ——

6. Notify the end

i ROMeystem

return Maotify The End

ait [ isActivited == FALSE]
activateBeep()
Use Case 22
fl S PSR ) e S L E ey [N | [ S e AR o Jasasaspasnsnsfianmandesnsnspasnsnafsannadusnnnnpasnnnns
[ isActivated == TRUE | 1 E
% activateBeep() 4
H T »  IGNORE




7. Start Stopwatch

i [ :RDMsystem ] [ :Stopwatch ]
E push "ST' l l
: Pre :
E |decﬂde5ununlnpm(butmnlnp ut) E
startStopwatch() I
returm
i*: displayStopwatchi) o L LI LT L LTI T P -
opt : [stopWatchTime > availTime] rezetStopwatch() >
returm
: oLt ELLELELTELTEEELELLLILELLITLSEE -
'EE displayStopwatch()

8. Pause Stopwatch




‘RDMsystem ]

push "3T"

displayStopwatch()

[ :Stopwatch ]

9. Record Lap Time

X

push "AD"

e E
|d&cndeﬂunnnln&mfbuﬂnnlnp ut) '
pauseStopwatchi) .
return
g A e
L .

:RDMsystem :Stopwatch

10. Show Lap Time

»
>
|dc:od&Buttonln put{buttoninput)
recordLapTime() o
>
| returm
R R e ey e ]
-



10

:RDMsystem

Push "Long MO™

display lapTime[n]

k J

decodeButtoninput{buttonlnput)

:Stopwatch

fetchLapTime(n)

return lapTimea[n)

loop d
uttoninput 1= "MO"]

alt

Push "HE"

dizplay lapTime[n+1]

k J

|d{.lcad{.lBurtanln put{buttoninput)

getLapTime({up)

Y

decodeButtoninput{buttonlnput)

return lapTime[n+1] I'L_l

getLapTime{down])

P

return lapTime[n-1]

11. Clear Stopwatch




i ‘RDMsystem :Stopwatch

g push "RE" H H
: > :
E |dccudeﬂunanlnpmtbunnnlnp ut) '
clearStopwatch() L
[ L

i ) ratum

. displayStopwatch() D R L L L e T T T T
A - :
5 - 0

12. Activate Alarm

[ ‘RDMsystem ] [ :alarm ]

push "AD" :
-

|dccudc5unanlnpm(buﬁnn Input) "

activateAlarm()

dizplayStatusoflarm{) I e e e ey

e



13. Deactivate Alarm

:RDMsystem ;alarm

: push "AD" : :
Pro ;
T |dncachunanlanﬂi buttonlnput) .
deactivateAlarm()
i return
displayStatusofAlarm() B L e B S s 1 I B B -
L 3

14. Set Alarm

Push "Long MO" J i E
| jecodeButtoninput{buttoninput) H
aditAlarm() g

: l return 'Ll
: displayAlarmTime() T T !
H H
o H
H highlightCurrentUnit{) E
* :
'009) [ buttoninput = "MO" | H
opt ) alt ) Push "RE" :
|dccnchunnmnpul(bunnnlnput; d
[ buttoninput H increase() = :
»>
displayAlarmTime()
Push "ST" 5
[ buttoninput Idccochunomnpm(bunnnlnputp E
H decrease()
E‘ displayAlarmTime() - - -
- H
opt = Push "AD"™ = r
H L decodeButtoninput(buttoninput) &
: selectUnitTime()
L displayAlarmTime()
D highlightCurrentUnit()
S




15. Switch Alarm

loop ) [ buttoninput = "MO" |

opt )

‘decodeButtoninputibuttoninput)

getAlamiup)

alt ) Push "RE"
[ buttoninpul == "RE" ] [ |
displayCurrentAlarm()
Push "ST"

[ burlun\npull =

displayCurrentAlarm()

return alarm{n+1]

3 R g Y g e N i)

‘decodeButtoninputibuttoninput)

getAlarm(down)

return alarm[n-1]

16. Notify

the Alarm

:RDMsystem

return Notify Alarm

:alarm

opt Push "AD" N
7] decodeButtoninput{buttoninput)
selectAlarm() n
retum
displayCurrentAlarm() J::' '''''''''''''''''''''''''''''''''''''' ']TI
highlightCurrentUnit() 0
saveAlarm() ‘:

alt

[ isActivated ==

FALSE]

activateBeep()

SIEEEERLE TEEEE

activate Beep()

Use Case

22

5
>

IGNORE

OH e e e S e o




17. Set Case Number

>0

Push "Long MO"

displayCaseNumber()

decodeButtaninput{butioninput)

editCaseNumber()

highlightCaseNumbar()

loop ) [ buttoninput I= "MO" |

18. Get Case

alt I Push "RE"
H decodeButtoninput{buttoninput)
[buttoninpul =="RE" | [ increase()
displayCaseNumber() T]
Push "ST" :
d decodeButtoninput{buttoninput) d
[ buttoninpul == "ST" ]
[ decrease() _E
retum LI
displayCasseNumber()y e Tt tataletula etk bl Ttk it il ki T
' T '
: E saveGaseNumbar() i




i [ ‘RDMsystem ] [:Decis.ithalcer]
: push "3T"
Pr .
1 |de:udnﬂununlnpm(burmnlnput;l :
getCase()

return case Mumber
return showCaseMumber

weenn]

19. Switch City



:RDMsystem

loop ) [ buttoninput 4= "MO" )

opt )

Push "RE"

w )

: 'decodeButtoninput({buttoninput)
[ Duuonlnpui: ="RE"] [ getWorldTime(up) '
i retumn worldTime(n+1] T]
i displayCurrentoridTime() B iy gy o Btk B i i :
Push "ST" E
3 decodeButtoninput{buttoninput) H
[ buttoninput == "ST" ] F
[ getWorldTima(down) J
. R raturn :Ll
| displayCurrentWorldTima() b kel b ikl ke ek kol Il ok ol kel bkl kel ol T
JT
20. Switch Mode
‘RDMsystem
ush "MO" :
p .
|decadeBul‘tnn Input{buttonlnput)
getMexthMode()
displayCurrentiode() |-

Illllllllllllllllllllllll”lllllllllllllll ==

21. Select Modes

e




Push "Long AD"

RDMsystem

o
La3 |dccochuttonIanntbunDnlnp ut)

cdgemmp o>

displayModeList()
loop J 3
alt | [ buttoninput =="ST" | Push "ST" 2
H us :
' =: selectMode()
L highlightSelectedMode()
*
[ buttoninput == "AD" ] Push "AD" =:
: 4 getMode{up)
E o highlightCurrentMode()
Pl .
break ) [ buttoninput == "MO":&& sizeofMode == 4 ]
: Push "MO" i
' ': saveModeList()

22. Activate Beep

‘RDMsystem

Retum

e CLLL T TTTTI

dizplayBeep

R ik G i Rl

Beep Sound

‘Beep

return beepActivated




23. Deactivate Beep

:RDMsystem

:Beep

'
: Push "ST" ! :
h .
h 1decodeButtoninputibuttoninput) h
' '
. .
i deactivateBeep{) i
.
| returm t]
- cemssasamnan
.

3 callPrevMode() i
H H
. .
' '
. .
. .
' '
' '
. .
. .
' '
. .
. .
. .
' '
. .
2 O D f. .
44, Define Class Diagram
= RDMSystem = Beep
- available[4]: Mode K>————— - activated: Boclean
1 1
~disablefZ}: Mods. + activateBeep() : void
-lnidax : intager + doactivateBesp() : void
+ decodaButtoninputibuttoninput): vaid + isActivated() : Boolean
+ selactModal) : void
= StaticTime
+ switchCurrentMode() - void
- alarmTime: Local Date Time
+ callPrevMode() : void
- isActivated : Boolean
¥ + getAlarm Time(): Local Date Time
+ setAlarmTime(time): void
4 + gellsActivated() : Boolean
- Mode + setisActivated(isActvated) : void
4 E
o FERs
1 1 1
Extends
J 1
1 1 1 1 () 1
- TimeKeeping - Timer - StopWatch - Alarm - DecisionMaker - WorldTime

- currentTime: Local Date Time

+edifTimeKeeping() - void
+increase()void
+decreasa() : void

+ selectUnitTime():void

+ saveCurren(Time() : void

- curreniTime: Local Date Time
- lefiTime: Local Date Time
- endTime: Local Date Time

+editTimer() : void
+increasaf) : void
+decrease() : void
+selectUnitTime() : void
+ saveTimer) ; void
+stantTimer() - void
+countDown() : void

+ pauseTimer() : void

+ resatTimer() : void

- lapTime{ 10]: Local Date Time
- star(Time: Local Date Time

- savedTime: Local Date Time
- index : Integer

- availTime : Local Date Time

+startStopwateh() : voie
+ resatStopwalch{) : void
+pauseStopwalchi) : void
+ recordLapTime() : void
+getLapTime(dir : int) : Local Date Time
+clearStopwatch) : voud

- alarmList{4]: StaticTime

-index : Integer

- caseNum: Integer

+editCaseNumber(): void

+ activateAlarm() : void

+increase(): void

e void

:void
+ editAlarmi)  voxd
+increasel) : void
+ decrease() : void
+ selectUnitTimel() void
+getAlarm() : Static Alarm

+ selectAlam() : void

+ saveCaseNumber(): void

+geiCase(): Integer

- cityld]: String
- timeDifference|4]: String

+getWaridTime(dir :int): Local Date Time
+getCity() : Stringl]
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